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SA B G(E) - NEAY - B O & o4 i HREZ
S|P = 831,753 840,639 18,886
Ngolsl 29 811,269 812,621 A1,3652
SIPVECE 14,088 14,296 ~208
oF MRS WY 14,088 14,296 £208
201 Yer2ot| 10,188 10,296 ~108
01 AtR22lt] 10, 188 10,296 ~108
OFIIZeE 1= 2,388
Rxl 8 5,002 «55 128 300
NEIDNB 6,002 x4 128 288
Z=2oly 30,0008 =252 +128 720
MR 1,080
- E2X 15,0008 *25 128 360
RN 12,0008 +55 128 720
OolfALALLT} ASDS
500,000 +62 x23| 6,000
OABNSHE DS 300,000 *6% 1,800
202 0fH| 900 900 0
01 =UHoit| 900 900 0
Ool=DSHE DKOiH| 50,0002 +62 900
203 YR 1,600 1,600 0
03 AIMETHRETY| 1,600 1,600 0
OET-pu=E%3 1,600,0002 1,600
405 Xtarz S| 1,400 1,500 A100
02 SAHPAHI 1,400 1,500 A100
OoABXEA TN PY 20,000 x70 1,400
oFEs 797,181 798,325 A1, 144
oFEs X & 760,101 743,045 17,056
201 Yereg| 48,065 26,005 22,060
01 AtR22lt] 38,690 15,865 22,825
ORI6CH 2I5HR 2t Z= 4| 9,705
SEE ZH L R 300,000 #5241 1,500
osipe sgEINE 10,0002 #3057 300
oslzymy 16,0002 %30 480
olAEE YA 45,0002 *30 1,350
olANES M 10,0002 * 1574 150
O AHX 7L 11,0002 * 1574 165
COlR HHIYW HE, SES YT
5,0002 «90H 450
S olE ARRIMT B 200,000 %34 600
=lp ks 1,610
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ol EES (etel: =3
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
0 & 24
SolF, RO, NUARE
130, 000& *5H 650
- (=23 HE, UG AEE)
30,0003 »3204 960
FE M (A, 2o, AUAAE)
200& *3000H+5&H 300
- Ol QIS AHE HIE 4,000& *2000H 800
Q@ =E M 10,000& 200 2,000
OYEsE I HE 15,0003 2002 3,000
Oolsle &2t 50, 000& 2005 10,000
O3 = ZMAIAY X2
30,000,000& *12% 3,600
Oog¥as 2z M 15,000 1002 1,500
OZ A& HIZ 10,000 *40H 400
Ozl9s &2t 5,200
2 AlS 400,000 +82] 3,200
ddlz 1,000,000& *23l 2,000
O2ZARY 2EESZ 7Y 2,397
-HIOIMERIHD EY 150,000& *3H 450
-ZetdiOldEZE Il Bl 512,300& 14 513
- ZetdiOIdEZe eIl EE 264,000 104 264
A Bl 160, 0002 *1H 160
- SMEX 15,0003 102 A 150
CANRES 500,000& 500
- A&l st 3002 *1000H = 12& 360
Ooslgd He 1,040
gA 9 SE0l MEH(0HE, HEE)
2,000 *200% 400
=) AH 10,0003 24«12 240
=g ae A2BE Y 400,000& 400
OSEE NH2HA =4 7,0003 222 128 1,848
02 23234l 9,375 10,140 AT65
OFUE A= 540
DIy 15,0003 1CH+ 122 180
MNES 30,000& x1CH =128 360
Ox&=Al 6,326
o E 3,810,000 «1CH 3,810
HRE 2,516,000 = 1CH 2,516
OxedeEEz 550
oM E 350, 0003 *1CH 350
- YHRE 200, 0003 *1CH 200
OXtS XAl 759
SIFSES 2203 *2,493cc 549
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el X Es (erel a2
SN HABA) - MRAMY - BES Ofl & o8 %gi HnE2
UL E 1402 %1, 495¢c 210
oR¥E= 100,000& «12& 1,200
203 g =&l 3,200 3,200 0
03 AMH=THIFAHI 3,200 3,200 0
O2ABAIR2 ABFX 3,200,000 3,200
205 2l3/d| 682,740 693,840 A 11,100
01 o/ &=l 198,000 198,000 0
SIpSE- g1 900,000% 15 x12& 162,000
O X & sl 200,000 15 *12& 36,000
02 8¢ 324,000 324,000 0
ogx+g 1,800,0008 15% * 122 324,000
05 2 =2Z 23 64,800 72,000 AT7,200
OYd¥2dzsY2FaH|
4,800,000 * 152 x90% 64,800
06 J|22SHF=AHI 69,660 77,400 AT,740
OJlzegdyEx| 69,660
o1& 2,400,000& 18 128 »90% 25,920
2o 1,200, 00021 * 124 122 »90% 12,960
SEE RS 900,0008! 32 * 122 *90% 29,160
HZAAE 900, 0003 »1H x2& x90% 1,620
08 2AE=RVUASREES 14,400 10,560 3,840
OoA=A=RE=S 80,000 x 15~ 122 14,400
09 clAIpAAL S 11,880 11,880 0
OclgzoAARe3 11,880
QAL EERES 60,000x15E *12& 10,800
CoEeYEEeEE
6,000& 152128 1,080
04 A=RESS 20,000 20,000 0
03 LR ES 20,000 20,000 0
OozdiR2g=s 20,000,000 20,000
401 AIEHIZL 20U 6,096 0 6,096
01 Al£Hl 6,096 0 6,096
O =232& JHHE wH 30,000 »139m’ 4,170
O 2398 X945 i 1,926
- dES 200,000& x9S 1,800
s 4,500 285 126
SIp<ImES 37,080 55,280 18,200
201 YLt 280 280 0
01 AtS2t2iHl 280 280 0
Od ZT2IQACHMAL Bl &ML
70,0003 ~4H x13] 280
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M 23 AIR =
HE: X205 29
ol o FES (el &
SH-EH . O3 - MBAY - BAS 0f Ao Soe HRZ2
202 044l 12,600 12,600 0
01 2Wobl 5,400 5,400 0
O9 &AL & EDI2 HWAIE 4]
150,000& 12 *33| 5,400
03 =22H20HH| 7,200 7,200 0
ON& =23 HWAIE =X =20l
1,800,000& x4H 7,200
205 2|3/ H| 24,200 42,400 A 18,200
03 2L odb] 5,000 9,000 A4 ,000
OSR+OJ ZLHHH] 5,000, 000& 5,000
04 =20t 14,200 28,400 A 14,200
O&X O3 DAIE 22 0b] 14,200
- Ol & 2ol & 1,250,000& x2H 2,500
- oA 900,000& x13H 11,700
07 AFHEIMEBEES 5,000 5,000 0
OFHE M 22 5,000,000& 5,000
HHSAAH| (2SI AR 2) 20,484 28,018 NT,534
ol 2HH| 8,400 8,400 0
ol 2| 8,400 8,400 0
203 YR =&l 8,400 8,400 0
01 J|22H PR =AY 3,000 3,000 0
OJ|A#2HPRFEH| 3,000,000& 3,000
02 HAAINNERF=EH| 1,200 1,200 0
OISR =R 1,200,000& 1,200
04 2EASIEHRF=EH| 4,200 4,200 0
ORAedYL =AY 4,200
O|3IAIR =2 250,000& x12& 3,000
HNE/ARA 100,000& = 12& 1,200
Jl2& | 12,084 19,618 AT ,534
Jl2&d | 12,084 19,618 NT,534
201 Et24d| 12,084 13,068 AN984
01 AtS22tell 10,236 11,300 A 1,064
ORN2E+=ZH| 5,540,000& *90% 4,986
OJIS2g2+8 2| 4,410,000& 4,410
OFH42Y 840,000 840
02 S=2494l 1,848 1,768 80
OYSAIEEE =X 34,900, 640& *6%*50% 1,048
oA X 80,000& *10CH 800




